[987:PART A
U QI L 18, V102 4, x 1

AD‘)V 0)
| (c 18)0{,

"vwmftjw B4t

| )Q§ TCOEA MR T
b

| 10=:- § 244
IR \ ¢ BERE
XMUr=17-94° 4244t 4 HEEREEEEREEEREEEEEN
0)101(} Dlﬁﬂmﬂc f ‘cHGt QF T VH 01 - j NEIgE T
\g Ny
V(] ot éi f)f f Bmw jjm tsw
‘ l QAT ' | IR

H“q-,(_

+
‘H
=10

5

2)71x) ?\/T_‘ SN

) sinxz0
=S8N Xx <

L 173N (5 0lloys gresier #h0n OF €Ot 10 0
Dommn/\t Fegis S | L |

b)1L BH | =SinXx172 (=¢0S )


https://mymathscloud.com

Q)= Yi-31bu = |

I ERING N
o 2NEsIing.. 2 41 e
EQu. (‘h‘ fophgent. NN
g
b r I RO T
| il

I e P T

(0,4} 129

0 RIX)= s -0 (e 4x) f
r, —u |

Uﬂ%“‘y (C‘U;)“*) ',):*)d)g,

y‘ (G2 P )dx =1 [ %j[)fu éﬁl\) ﬂ@{g)@~%'0):%ﬁ
| ‘ i |

R


https://mymathscloud.com

) N T e <5

| a_f’,()qf-)_A_ri =1 4x -]
,) | (k"ij) X713
X*13 |
=
245
14X 10
X217
+Xx -(x?13) = ()
R S |
o el 5 WEIEM} A
X153 ]
X 1tx 730, X243 () |
R YE X5 i
(- {x-3):0 EEN
L iXx®15 f(),c)m ) t T | |
s M| I J. . B L L |
s NN EANL
Rc! MM G1 X=3 Sinte $(xJ Ch(m%cs SIPN 400M fye 10 ~Ve ¢
m i\f el min G4 il Simt (X QhQDQeSs SIG0 4£0m. -ve
b)) (4) - 4x(x) T4y 1) 8)&“12?“2 =0
PR (X413 I DY)
MO, |
(k’“UP | _ ,
Ar)c 1020 [(X*13):=0
,;rl D) YRR K ]
3 ! , ; ,
XEANS [T I LN RN
) 3 V5 5
L, AN VN
P1. (4 mﬂf:umn 01 273 0005
CJH(3)=-2[n02) -3 = 1.970

QhCCk em}poim eXiremo:
{(3) - )mum«?m@
t(5)=21N23 - 0.030

~ABS.MOX VO € =2In124 3 = 7.970 0 3.0.D.

- T
ny {s{ﬁ_/—

| 0)'V0luma=jl(2)l3)(.5)'=%0=15 >


https://mymathscloud.com

'DIWN‘JX Vel PU)‘QU =, we wan+t  ab

4120/ & 4 ARs
B mxoi 1hongle S 2 = b
) pie3. 1 =p
Oh:3b
_b2h
V= 1bhi5) - Lbhis) Iy
| 1(2 h)hih? _tf‘(_zh)h;’l& |
J 213 213 20
=§h’ N ] .h“)%-*_}@ %%9
| , 1D 3
4y =0 h dh h=3 |
0t 3 dt 2
2B
, I
2 * 30 dh
-0 472 fumin
T I A,

(e Wont ar, When V=B OFr h=J
i | 4 2|

o |

e g
(o
BT

| N—

=

] l .
frn—
"
{"T”E

i " il @
LlosuslEsE ik
o™
‘\-J" |

| mmc:‘ﬁt;

HllmrD

|, 1'{Xl<0

:O)/O-(b(C :‘ || | .
<02 15 Stricdiy  deereasing b [G,0

AbRQ - j"f I - jQ{

6)f(x

i

S
S—

oLy

D5~

-
N e
= (®

/.

. —
0 bw

b) qixd: 1 =(H(Xx)- ()7 40 () -1 (X))
) Gl TS () -17"401(x X ( )

sSinee Hx)<q, “[HXI-17<0, ond H1X)<0,0°(x)>0

0 19
INCHens



https://mymathscloud.com

05 iDCren Sy

f

1=00 |



https://mymathscloud.com

